Timely Practice percent strand 6 new learning questions

1. NO calculator practice

(a) Work out 40% of £33.50

(b) Work out 15% of £34.00

(¢) Work out 2.5% of £130

(d) Work out 80% of £15.60

(e) Work out 2% of £152

(f) Work out 15% of £250

Answers: a) £13.40 b) £5.10 «¢) £3.25 d) £1248 e) £3.04 f) £37.50
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Timely Practice percent strand 6 new learning questions

2. NO calculator practice

(a) Work out 15% of £130

(b) Work out 2.5% of £6.40

(c) Work out 40% of £420

(d) Work out 80% of £4.60

(e) Work out 15% of £35

(f) Work out 2% of £460

Answers: a) £19.50 b) £0.16 c¢) £168 d) £3.68 e) £525 f) £9.20
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